Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
Diploma Engineering - SEMESTER-VI « EXAMINATION - SUMMER 2013

Subject Code: 360503 Date: 13/05/2013
Subject Name: Chemical Engineering Plant Economics

Time: 10:30 am TO 01:00 pm Total Marks: 70
Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is considered to be Authentic.

Q.1 (a)  “Itis advisable to select standard equipment wherever possible”-Justify.
(b)  Write a short note on The Role of chemical Engineer.

Q.2 (a)  Discuss technical factors to be considered in plant design.
(b)  Discuss batch processing Vs continuous processing with example
OR

(b)  Write a short note on various types of flow diagrams.

Q.3 (a)  Explain methods of plant layout.
(b)  Write a short note on Break-even chart.
OR
Q3 (a)  Write a short note on selection of heat transfer equipments
(b)  State methods for determining depreciation. Explain any one in detail.

Q4 (a)  Write a short note on optimum economic design.
(b)  Discuss principles of piping layout.
OR
Q4 (a)  State types of cost indexes. Explain any one in detail.

(b)  Describe analytical procedure for determining optimum condition with
two variables.

Q.5 (a)  The original cost of property is Rs. 30000 and it is depreciated by 6%
sinking fund method. What is the annual depreciation charge if the book
value of property after 10 years is the same as if it had been depreciated
at Rs. 2500 per year by Straight line method?

(b)  Define: (i) Service life (ii) Salvage value (iii) Book value
OR

Q.5 (a)  The following equation shows the effect of the variables X and Y on total

cost for a particular operation,

Cr=2.5X+12500 + 1.75Y +10
XY
Determine :
1. Optimum values of X and Y
2. Minimum total cost
(b)  Write short note on Capital Investment
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